MATH

Factoring (a # 1)

Factor each completely.

M 3x2-16x + 20 @ 10x2-27x + 5
@ 18x° + 33x? - 30x @ 24x° - 52xy + 8y?
® 5a?-1a+ 6 ©® 8p?-20p -72
@ 6n? + 45n + 84 10m?2 + 23m + 6

©® 16a? + 60a - 100 5u? + 3luv - 28v?



Factoring (a # 1) et
Answers
3x? - 16x + 20 2 10x%2-27x +5
(3x - 10)(x - 2) (2x - 5}(5x - 1)

18x° + 33x? - 30x

3x(2x + 5)(3x - 2)

502-1Tla + 6

(5a - 6)(a - 1)

é6n? + 45n + 84

3(n + 4)(2n + 7)

1602 + 60a - 100

4(a + 5)(4a - 5)

24x? - S2xy + 8y2

4(x - 2y)(6x - y)

8p? - 20p - 72

4(2p - 9)(p + 2)

10m? + 23m + 6

(m + 2)(10m + 3)

S5u? + 3luv - 28Vv?

(5u - 4v)(u + 7v)



